Date:

TOTAL COST FOR INTERIORS ITEMS WORKS FOR PROPOSED INDIAN BANK, MOBERLIPETA, AMALAPURAM BRANCH & ATM AT AMALAPURAM.

<u>S.No.</u>	<u>NAME OF THE WORK</u>	<u>Total Cost in Rs.</u>
01)	Cost for Branch INTERIORS WORKS	
02)	Cost for ATM INTERIORS WORKS	
	Total Cost:-	
	Say Total:-	

INTERIORS WORKS FOR PROPOSED INDIAN BANK, MOBERLIPETA, AMALAPURAM BRANCH AT AMALAPURAM.

S.No	Description of work	No.	L	B/H	Qty in sft	Qty in Sqm	Unit	Rate in Rs.	Amount in Rs.
01)	Full Height Partitions (Double S	kin F	artition):-					
- /	Supply and fixing full ht partitions								
	of Sal wood / laminated / glazed								
	finish using good quality sal								
	wood frame or 6 mm BWR Ply of								
	century/ approved make with								
	provision for concealed PVC								
	pipes and fittings for electrical/								
	communication /computer wiring								
	and finally topping with								
	decorative Steam Beach wood								
	beading laminated/glass as per								
	drawing and using other								
	materials as directed by								
	Engineer/ Employer (Cost of								
	S.W. / Laminated / glazed shutters with fixtures, fittings,								
	mortise locks etc should also be								
	included.)								
	BM	1	10.00	9.00	90.00				
		1	8.75	9.00	78.75				
	Antiroom	1	11.70	9.00	105.30				
					274.05	25.47	Sq.m		
	Doors in Partitions:								
	Providing & fixing 35 mm thick								
	solid core flush with 85 X 15 mm								
	beech wood jamb alround and 12								
	X 12 mm button beading fixed								
	with 1 mm laminate (dark for								
	bands and light for body) on both								
	sides and 8 mm clear float glass								
	with etching design as directed								
	with 50 X 15 mm beech wood jamb alround the glass opening								
	and 12 X 12 mm beech wood								
	beading for fixing of glass on								
	both, sides including necessary								
	hardware viz: door stopper, door								
	silencer, doorset lock (Godrej								
	etc.), handles, brass hinges of								
1	approved make & quality,								
	melamine spray polish finish to								
	all beech wood members etc.								
	complete as directed.								
	Note: The rate should include								
	cost of doors in partitions as								
	specified above.								
1b)	Low Height Partitions	4	4.00	4.00	64.00				
		1	1.50	4.00	6.00				
					70.00		Sq.m		
L					10.00	0.01			

FOR QUOTE

02)	False Ceiling (Armstrong):-							
	Providing & fixing							
	'ARMSTRONG'/ 'INSULA'							
	Mineral Fibre Acoustical (Pin							
	Hole) Ceiling Panels of 13 mm							
	Square edge. The tiles shall be							
	supported on Insula regular grid							
	frame work of size 60 X 600,							
	consisting of pre-coated G.I. Wall							
	angles of size 15 X 32 X 04 mm,							
	main "I" of size 15 X 32 X 04 mm							
	with bottom pre-coated and laid							
	at 600 mm in both directions							
	using MS rods with adjustable "J"							
	bolts, anchored fastener etc. all							
	as per manufacturer's							
	specifications and as directed.							
		1	26.20	28.00	733.60			
		1	11.70	12.75	149.18			
					882.78	82.04	Sq.m	

S.No	Description of work	No.	L	B/H	Qty in sft	Qty in Sqm	Unit	Rate in Rs.	Amount in Rs.
03)	Counter's:-								
	Fixing of counters as per the								
	design, using 18mm plywood,								
	Formica laminated sheets of								
	1mm thk. and key board, one								
	drawer, one cupboard to be								
	provided including hardware								
	materials like hinges handles								
	and godrej locks, etc., Counter								
	height 2'6", counter width 2'6"								
	(Only used fevicol speedx gum								
	should be used) CBS Model.								
	Plywood (MR-COM.IS 303): Green								
	Laminate : Formica/ Green / Archi	d							
	Laminate Colour scheme: Light /								
	Main colour- Sycamore / E234/								
	1234/ Formica								
	Adhesive: Fevicol Speedx / SR-99	98/ SI	-						
	CMYK color code								
	Red :- C:0, M:100, Y:100, K:0								
	Yellow : C:0, M:100, Y:100, K:0								
	Blue : C:0, M:100, Y:100, K:0								
	RGB Color code								
	Red :- R:237, G:50, B:55, D3237								
	Yellow :- R:255, G:204, B:40, FCC	28							
	Blue :- R:0, G:108, B:181,006CB5								
а	Single window counter with side								
	table and semi partitions				18.00	5.49	Rmt		

S.No	Description of work	No.	L	B/H	Qty in sft	Qty in Sqm	Unit	Rate in Rs.	Amount in Rs.
	Engineer/ employer.	1	5.00	4.00	20.00	1.86	Sqm		
	opening for communication and cash moment as per directions of								
	but using 12 thick glass with								
	Same as above item No.1 with regarding to full height partions								
d	Cash counter 12mm glass:-								
					125.00	11.62	Sqm		
		1	5.00	9.00	45.00				
		1	5.00	9.00	45.00				
		1	7.00	5.00	35.00				
	directions of Engineer /employer.								
	of size 0.30 x 0.20 m as per								
	using aluminum grill/glass with opening as desired with per tray								
	regard to full Ht.partitions but								
0	Same as above item No:1 with			l					
с	Cash counter partition:-								
	/employer.								
	as directions of Engineer								
	above table top with provision of glass panel of size 0.30 s 0.15m								
	storage space of 0.60 x 0.45								
	with out Semi-height partitions								
	Same as above item No:3a. But				5.00	1.52	Rmt		
b	Cash counter with side table:-						D . 1		
	per drawing and as per directions of Engineer / employer.								
	table, foot rest etc. complete as								
	coated CPU movable stand, side								
	drawer unit, BWR Ply board tray and ready made MS powder								
	quantity of Semi height partitions,								
	standard design with related								
	laminate finish as per the								
	Providing & fixing in position as per the layout, Single Window Counters (4'6" long) with 1mm laminate finish as per the								

	Entrance door size (7'0"x8'0") Supplying and fixing Steam								1
	Supplying and fixing Steam								
	beech / Teak wood framed								
	glazed door shutter using 10mm								
	thick toughened glass with								
	design border and having								
	150mm x 37mm stiles and								
	150mm x 37mm top rail and								
	150mm x 37mm middle and								
	bottom rails and topped with								
	decorative steam beech / Teak								
	wood beading and finished the								
	same with best melamine polish								
	of desired shade and colour, 10								
	mm toughend glass with								
	decorative design with necessary								
	hard ware viz: (Brass hinges,								
	Handels-300mm long, Tower								
	bilts and Godrej Mortice lock of								
	brass finish, floor door closer of								
	Dorma/Approved make and								
	using other necessary materials,								
	labour as per directions of								
	Engineer /Employer, Steam								
	beech wood door frame of								
	100mm x 65mm for movable								
	shutters should be provided.								
	Bank	1	7.00	8.00	56.00				
					56.00	5.20	Sqm		
05)	Storage Cabinets:-						-		
,	Providing, making and placing in								
	position of storage cabinet of								
	size 450 mm width ans 750mm &								
	2000mm height made of 18/19								
	•								
	mm BWR plywood for all								
	horizontal and vertical members								
	(except back side which is 8 mm								
	BWR ply with laminate) with 1								
	mm Suede/matt laminate finish								
	on both sides, 6mm thick glass								
	sliding doors with powder coated								
	channels. 16mm thick granite								
	with round edge shall be								
	provided on cabinet top. Front								
	side plywood edges shall be								
	finished with 18X4mm teak wood								
	beading.								
	BM	- 1	0 50	2 50	04.05				
	Officers	1	8.50 8.00	2.50 2.50	21.25 20.00				
	Unicers		0.00	2.00	20.00 41.25	3.83	Sqm		
	1				41.25	3.83	- 50M	1	

06)	Table Top Glass:-	1	6.00	2.50	15.00	1.39	Sqm	
	Supplying and fixing in position glass for table top using 8mm thick clear float glass with provision of hole for wire manager and finishing the edges of glass with rounded edges and suiting to sizes of existing table tops including all labour, material, tools, transportation etc.							
07)	Suggestion Box:-					1.00	Nos	
08)	Supplying and fixing suggestion box of required size and shape using 18mm BWR ply of Century/approved make for box and shutter and by covering the all sides other than backside with 1mm thick laminate of Sunmica / approved make with best Melamine polish whicle the back side is painted with 2 coats synthetic Enamel over a coat of primer & putty of Asian/Approved make and using all necessary materials as directed by Engineer/ Employer.					1.00	Nos	
(80	Supplying, fixing, installing					1.00	INUS	
	writing table at desired height of laminate finish using 18mm BWR ply, of century / approved make, 1mm thick laminate etc. and using other necessary material, labour, transportation etc., as directed by consultant employer- (Size:900x 450x150/100mm).							
09)	Cheque Drop Box:-					1.00	Nos	
	Supplying and fixing cheque drop box of required size and shape using 18mm BWR ply of Century/approved make for box and shutter and by covering the all sides other than backside with 1mm thick laminate of Sunmica / approved make with best Melamine polish whicle the back side is painted with 2 coats synthetic Enamel over a coat of primer & putty of Asian/Approved make and using all necessary materials as directed by Engineer/ Employer.							
10)	Wicket gate:-					1.00	Nos.	
11)	Soft Board (5'x5') :-					1.00	Nos.	

12)	Tables:-								
a.	B.M.Table: - (1800x750x750)								
a.	Side Table:- (900x450x725)					1.00	No.		
	Providing, making & placing in								
	position executive table and side								
	table with the following								
	specifications:								
	Supplying and installing following								
	tables of required size and shape								
	using 18mm thk. bwr ply for								
	vertical and horizontal surfaces								
	which are fixed/ openable and								
	covering the external verticle and								
	top surfaces with 1mm laminate								
	of sunmice / steam beach wood								
	and some internal surfaces of								
	table or painted with 2 coats of								
	synthetic enamel paint over two								
	coats or primer and putty and using other materials as								
	specified in drawing and								
	materials as directed by								
	Engineer / Employer (Paint:								
	Asian/ Approved make).								
	OfficerTable: - (1375x600x750)								
b.	Side Table:- (900x450x725)								
ы.	Side Table (500x450x725)					2.00	No.		
13)	Panelling works:-	_							
a)	Main Entrance shutter box & side		_						
	panelling	2	2.50	10.00	50.00				
		1	19.00	4.00	76.00				
					400.00	44 74	0		<u> </u>
					126.00	11.71	Sqm		
14)	Venetian Blinds:-	4	6.00	5.00	120.00				
- 1					120.00	11.15	Sqm		
							Tota	l in Rs:-	
								in Rs:-	

INTERIORS WORKS FOR PROPOSED ATM FOR INDIAN BANK, MOBERLIPETA, AMALAPURAM AT AMALAPURAM

SI. No	Description of work	No.	L	B/H	Qty in sft	Qty in sqm	Unit	Rate	Amount
1	ACP Shutter Box Panelling at Entrance Complete in all respects.								
	Entrance Complete in all respects.	1	12.00	5.00	60.00				
		2	1.75	8.00	28.00				
					88.00	8.18	Sqm		
2 3	Fixed Glass Partition Entrance Glass Door including	1	3.50	8.00	28.00	2.60	Sq.M		
	Floorspring Supplying and fixing Steam beech / Teak wood framed glazed door shutter using 10mm thick toughened glass with design border and having 150mm x 37mm stiles and 150mm x 37mm top rail and 150mm x 37mm middle and bottom rails and topped with decorative steam beech / Teak wood beading and finished the same with best melamine polish of desired shade and colour, 10 mm toughend glass with decorative design with necessary hard ware viz: (Brass hinges, Handels- 300mm long, Tower bilts and Godrej Mortice	1	3.50	8.00	28.00	2.60	Sq.M		
4	False Ceiling Armstrong 2'x2'	1	7.00	7.00	49.00	4.55	Sq.M		
		1						Total-	